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Amy adds some positive numbers together and gets 17.

Bella multiplies those same positive numbers together and gets N.
Compute the least positive integer that cannot be N.

s K HNBVERAERNA] ©

o 7B




ARMLER] S E2HHE

Amy adds some positive numbers together and gets 17.
Bella multiplies those same positive numbers together and gets N.
Compute the least positive integer that cannot be N.
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SOLVTION
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Amy adds some positive numbers together and gets 20.
Bella multiplies those same positive numbers together.
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Amy adds some positive numbers together and gets 17.

Bella multiplies those same positive numbers together and gets N.
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SOLVTION

Sincei/zxﬁ is creasing Yk >0, and $/517 x6~16.998 <17,
when k=1,2.---.517 ,we can use Q/E+6k+%+%+%+%+(17—%x6)=17,

then %x%x%x%x%xﬁ;:k.

Therefore, we prove that Bella can find all 1~ 517 combinations.
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